Exercise 13.2

In the figure P is any point and AB is a line which of the following is the shortest
distance between the point P and the line AB.
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(a) mPL (b) mPM (c) mPN (d) mPO
As we know that PN | AB
So PNis the shortest distance

In the figure, P is any point lying away from the line AB. Then mPL will be the
shortest distance if
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(a)m/P ZA=80° (b)msP/B=100° (c)msPLA=90°
Solution:
m<ZPLA = 90°
PL | AS

PL is the shortest distance
So ZPLA or PLS equal to 90°

In the figure, PL is perpendicular to the line AB and LN > mLM . Prove that

mPN >mPM .
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mLN >mIM

To proved:

mPN >mPM



Proof
APLM
ZPLM = 90°
.. ZPMN > APLM Exterior angle
ZPMN > 90°
InAPLN
ZPLN = 90°
m./PNL < 90° Acute angle
APMN
m/PMN > m./PNL

~.PN > PM




